
  

 

 

 

 

 

  

   

PART A — (10 × 2 = 20 marks) 

Answer any TEN questions. 

Each answer should not exceed 50 words. 

Each answer carries 2 marks. 

1. List the dimensions of creativity according to Guilford 

and Torrance. 

 QÀ÷£õºk ©ØÖ® hõµßìêß TØÖ¨£i BUPzvÓÛß 

£À÷ÁÖ ÷Põn[PøÍ £mi¯¼kP. 

2. Differentiate between ‘reinforcement’ and ‘feedback’. 

 Á¾¨£kzxuÀ ©ØÖ® ¤ßÞmh® CøÁPøÍ ÷ÁÖ£kzxP. 

3. What are the achievements of Hellen Keller? 

 öí»ß öP»›ß \õuøÚPÒ ¯õøÁ? 

4. ‘ö\ØÓõøµa ö\Özu¼ß uØö\´øP ]Ó¢ußÖ’ GßÝ® £õhÀ 

Á› Ch®ö£ØÖÒÍ £õhÀ ©ØÖ® £õi¯ÁøµU TÖP. 

5. What is deforestation? 

 PõkPÒ AÈzuÀ GßÓõÀ GßÚ? 
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6. What do the following graphs represent? 

 RÌUPsh Áøµ£h[PÒ GÁØøÓ SÔUQßÓÚ? 

   

              (a)                                  (b) 

7. Ãµ©õ•ÛÁ›ß £øh¨¦PÐÒ H÷uÝ® |õßQøÚU TÖP. 

8. How does the village council get its revenue? 

 Qµõ© \ø£UPõÚ Á¸Áõ´ GÆÁõÖ QøhUQÓx? 

9. ‘Good luck is round the corner’ 

 (a) What is personified here? 

 (b) Explain this line from the poem ‘Keep your Spirits 

High’. 

10. Vignesh spends Rs. 2,000 from his salary for recreation 

which is 5% of his salary. What is his salary? 

 ÂU÷Úè ußÝøh¯ \®£Ízv¼¸¢x ¹. 2,000 

ö£õÊx÷£õUQØPõP ö\»Âmhõº. Ax AÁ¸øh¯ 

\®£Ízvß 5% GÛÀ AÁ¸øh¯ \®£Í® GÆÁÍÄ?  

11. How was Balban able to destroy the ‘corps of forty’? 

 £õÀ£ß, |õØ£vß©º SÊøÁ GÆÁõÖ JÈzuõº? 

12. Differentiate weather and climate. 

 ÁõÛø»ø¯²®, Põ»{ø»ø¯²® ÷ÁÖ£kzxP. 
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PART B — (6 × 5 = 30 marks) 

Answer any SIX questions. 

Each answer should not exceed 200 words. 

Each answer carries 5 marks. 

13. Ag\ø»¯®©õÒ P»¢xU öPõsh ÷£õµõmh[PÒ ¯õøÁ? 

14. Explain any five principles of growth and development. 

 ÁÍºa] ©ØÖ® •ß÷ÚØÓ® £ØÔ¯ öPõÒøPPÐÒ H÷uÝ® 

I¢vøÚ ÂÍUSP. 

15. What are the types of joints? Explain with examples. 

 ‰mkPÎß Cøn¨¦ ÁøPPøÍ GkzxPõmkhß ÂÍUSP. 

16. What kind of poem is ‘‘Our Local Team’’? Justify your 

answer. 

17. The length of a chain used as the boundary of a semi 

circular park is 72 m. Find the area of the park. 

 

 AøµÁmh ÁiÂ»õÚ §[Põ JßÔß GÀø» ÷Á¼¯õP 

£¯ß£kzu¨£mkÒÍ \[Q¼°ß }Í® 72 «., GÛÀ 

§[PõÂß £µ¨£ÍøÁU PõsP. 
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18. Explain the factors that determine agriculture. 

 ÷ÁÍõs öuõÈø» {ºn°US® PõµoPøÍ ÂÍUSP. 

19. Mention the causes for Gurkha war. 

 TºUPõ ÷£õ¸UPõÚ Põµn[PøÍ SÔ¨¤kP. 

20. What is imitational learning? Explain its components. 

 £õºzx ¤ß£ØÔU PØÓÀ GßÓõÀ GßÚ? Auß EmTÖPøÍ 

ÂÍUSP. 

PART C — (2 × 15 = 30 marks) 

Answer BOTH the questions. 

Each answer should not exceed 600 words. 

Each answer carries 15 marks. 

21. (a) SØÔ¯¾Pµ®, SØÔ¯¼Pµ® ©ØÖ® •ØÔ¯¾Pµ® 

CøÁPøÍ ÂÍUSP. 

Or 

 (b) What are the problems faced by Johnny, a dyslexic 

child? How should such children be treated in the 

classroom?  

22. (a) (i) The parallel sides of a trapezium are 20 cm 

and 10 cm. Its non-parallel sides are both 

equal, each being 13 cm. Find the area of the 

trapezium. 
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   J¸ \›ÁPzvß Cøn¯õÚ £UP[PÒ 20 ö\.«. 

©ØÖ® 10 ö\.«. Auß Cøn¯ØÓ £UP[PÒ 

Cµsk® \©}Í•øh¯øÁ, ÷©¾® AøÁ 

JÆöÁõßÖ® 13 ö\.«. GÛÀ Aa\›ÁPzvß 

£µ¨¦ PõsP. 

  (ii) With the help of an activity, prove that the 

molecules of matter have force of attraction 

between them. 

   ö£õ¸mPÎß ‰»UTÖPÐUQøh÷¯ Dº¨¦ \Uv 

Esk Gß£øu J¸ ö\¯¼ß ‰»® {¹¤UP. 

  (iii) Explain flight in birds. 

   £ÓøÁPÒ £ÓUS® •øÓ°øÚ ÂÍUSP. 

Or 

 (b) (i) How did Lord Cornwallis give a proper shape 

to the judicial set up? 

   PõµßÁõ¼ì ¤µ¦ }vzxøÓø¯ GÆÁõÖ 

•øÓ¨£kzvÚõº? 

  (ii) Explain the power and functions of the 

National Human Rights Commission. 

   ÷u]¯ ©Ûu E›ø©PÒ Bøn¯zvß 

AvPõµ[PøÍ²®, £oPøÍ²® ÂÍUSP. 



 B 1052 6

  (iii) Discuss the different types of irrigation 

systems. 

   }º¨£õ\Ú •øÓ°ß £À÷ÁÖ ÁøPPøÍ 
ÂÁõvUP. 

–––––––––––––––– 


